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Australia - Description of Methodology 
1. Political Boundaries:

The continent of Australia, lies between latitudes 10 degrees 4l minutes south (Cape York) and 43 degrees 39 minutes south (South East Cape, Tasmania) and between longitudes 113 degrees 09 minutes east (Steep Point, Western Australia) and 153 degrees 39 minutes east (Cape Byron, New South Wales). The continent is bounded on the north by the Timor Sea, the Arafura Sea, and the Torres Strait; on the east by the Coral Sea and the Tasman Sea; on the south by the Bass Strait and the Indian Ocean; and on the west by the Indian Ocean. The area of Australia, including Tasmania, is about 7,682,300 sq. km. 

Australia is divided into six states and two territories namely New South Wales, Queensland, South Australia, Tasmania, Victoria, Western Australia and Australian Capital Territory and Northern Territory.
2. Data Sources:


Population:
Population and area data for the 6 states and two territories of Australia for the year 1990 were obtained from the publications "1992, Year Book, Australia," published by the Australian Bureau of Statistics and their website http: // www.abs.gov.au /Ausstats /abs@.nsf/ Lookup/ 0DB74C39EEE3A0 2FCA256 B350010B402  and used for the calculations of density.

RIG’s:


Arc View program was also used to calculate RIG’s for the Australian states and territories and same data was used for further computations. 
GDP:

GDP data for six Australian states and two territories were obtained from the publication "Australian National Accounts, State Accounts,” published by the Australian Bureau of Statistics and their website http: // www.abs.gov.au /Ausstats/abs@.nsf / Lookup/ 81043EE34D6172F8CA256CAE0016E51C. Per capita GDP for each state and territories were computed by dividing the GDP with their respective population.
3. Methodology:

First the grid area figures were converted into square kilometers using      1 square mile = 2.59 square kilometers. Then, the sub cell population was computed using the formula [RIG * grid area * population density], and re-scaled the resulting sub cell population to fit the 1990 total population.  Sub cell GDP was calculated using the formula [sub cell GDP = [income per capita * 1990 sub cell population], where income per capita = [total GDP/Population], and aggregated the sub cell values to the cell level using the "collapse" command in Stata. 

The cell GDP was rescaled with the National GDP and further re-scaled to fit the GDP (1990, US $ 1995) MER and PPP.

4. Summary:
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Major Source for Economic Data:

1. Australian Bureau of Statistics, "1992, Year Book, Australia." 

2. http://www.abs.gov.au/Ausstats/abs@.nsf/Lookup/0DB74C39EEE3A02FCA256B350010B402

3. Australian Bureau of Statistics, "Australian National Accounts, State Accounts." 
4. http://www.abs.gov.au/Ausstats/abs@.nsf/Lookup/81043EE34D6172F8CA256CAE0016E51C
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